
 
SP.528 If 𝒂, 𝒃, 𝒄 ≥ 𝟏 then: 

𝟏

𝟗
(𝒂 + 𝒃 + 𝒄) +

𝟏

𝟑√𝟐
≥

√𝒂𝒃 − 𝟏
𝟑

𝒃 + 𝒄 + √𝟐
+

√𝒃𝒄 − 𝟏
𝟑

𝒄 + 𝒂 + √𝟐
+

√𝒄𝒂 − 𝟏
𝟑

𝒂 + 𝒃 + √𝟐
 

Proposed by Marin Chirciu – Romania  

Solution 1 by proposer 

𝑹𝑯𝑺 = ∑
√𝒂𝒃 − 𝟏
𝟑

𝒃 + 𝒄 + √𝟐
≤

𝑨𝑮𝑴
∑

𝟏

𝟑
√

𝒂𝒃 − 𝟏

√𝟐𝒃𝒄

𝟑

=
𝟏

𝟑
∑ √

𝟏

√𝟐
(𝒂 −

𝟏

𝒃
)

𝟏

𝒄

𝟑

 ≤
𝑨𝑮𝑴

 

≤
𝑨𝑮𝑴 𝟏

𝟑
∑

𝟏

√𝟐
+ (𝒂 −

𝟏
𝒃) +

𝟏
𝒄

𝟑
=

𝒂 + 𝒃 + 𝒄 +
𝟑

√𝟐
𝟗

= 𝑳𝑯𝑺 

with equality for 𝒃 = 𝒄 = √𝟐,
𝟏

√𝟐
= (𝒂 −

𝟏

𝒃
) =

𝟏

𝒄
. 

Equality holds if and only if 𝒂 = 𝒃 = 𝒄 = √𝟐. 

Solution 2 by Amir Sofi-Kosovo 

𝒃 + 𝒄 + √𝟐 ≥
𝑨𝑴−𝑮𝑴

𝟑√√𝟐𝒃𝒄
𝟑

 

⇒
√𝒂𝒃 − 𝟏
𝟑

𝒃 + 𝒄 + √𝟐
≤

√𝒂𝒃 − 𝟏
𝟑

𝟑√√𝟐𝒃𝒄
𝟑

=
𝟑

𝟗
√(𝒂 −

𝟏

𝒃
)

𝟏

𝒄

𝟏

√𝟐

𝟑

≤

𝒂 −
𝟏
𝒃 +

𝟏
𝒄 +

𝟏

√𝟐
𝟗

 

√𝒃𝒄 − 𝟏
𝟑

𝒄 + 𝒂 + √𝟐
≤

√𝒃𝒄 − 𝟏
𝟑

𝟑√√𝟐𝒄𝒂
𝟑

=
𝟑

𝟗
√(𝒃 −

𝟏

𝒄
)

𝟏

𝒂

𝟏

√𝟐

𝟑

≤

𝒃 −
𝟏
𝒄 +

𝟏
𝒂 +

𝟏

√𝟐
𝟗

 

√𝒄𝒂 − 𝟏
𝟑

𝒂 + 𝒃 + √𝟐
≤

√𝒄𝒂 − 𝟏
𝟑

𝟑√√𝟐𝒂𝒃
𝟑

=
𝟑

𝟗
√(𝒄 −

𝟏

𝒂
)

𝟏

𝒃

𝟏
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≤

𝒄 −
𝟏
𝒂 +

𝟏
𝒃 +

𝟏

√𝟐
𝟗

 

Add 3 Inequalities we get: 

√𝒂𝒃 − 𝟏
𝟑

𝒃 + 𝒄 + √𝟐
+

√𝒃𝒄 − 𝟏
𝟑

𝒄 + 𝒂 + √𝟐
+

√𝒄𝒂 − 𝟏
𝟑

𝒂 + 𝒃 + √𝟐
≤

𝟏

𝟗
(𝒂 + 𝒃 + 𝒄) +

𝟏

𝟑√𝟐
 

 


